blasting equipment

TVl Designed for use with mineral abrasives

provide precise
metering of abrasive from the blast pot
to the hose, ensuring less wastage.

45° incline design ensures
uniform mixture of air and
abrasive

Manufactured from high
grade aluminium with
durable steel control discs
for metering media flow

Easy access service port
to clear the valve

Designed to work with
mineral abrasives

Locking nut allows user

to define how open the
media valve is

Service kits available for
simple maintenance

[ Elcometer FV
CPartNumbers ]

Part Numbers

Part Number Description
Elcometer Mini Flat Valve for use with Elcometer 1020 - BSP Thread
Elcometer Flat Valve suitable for all Elcometer blast machines except the Elcometer 1020 - BSP Thread

Anmartsi (7273)495-231 VBaHoBO (4932)77-34-06 MarnuToropck (3519)55-03-13 PocToB-Ha-[loHy (863)308-18-15 TonbaTTh (8482)63-91-07
Anrapck (3955)60-70-56 MxeBck (3412)26-03-58 Mocksa (495)268-04-70 PsaizaHb (4912)46-61-64 Tomck (3822)98-41-53
ApxaHrenbck (8182)63-90-72 MpkyTck (395)279-98-46 Mypmanck (8152)59-64-93 Camapa (846)206-03-16 Tyna (4872)33-79-87
AcTpaxaHb (8512)99-46-04 KasaHb (843)206-01-48 HaGepexHble YenHbl (8552)20-53-41 CaHkT-lMeTepbypr (812)309-46-40 TiomeHb (3452)66-21-18
Bapxayn (3852)73-04-60 Kanununrpag (4012)72-03-81 HuxHuin Hosropop, (831)429-08-12 Capartos (845)249-38-78 YnbsiHoBCK (8422)24-23-59
Benropop (4722)40-23-64 Kanyra (4842)92-23-67 HoBoky3HeLk (3843)20-46-81 CeBacTononb (8692)22-31-93 Ynaun-Yaa (3012)59-97-51
BnaroBeueHck (4162)22-76-07 KemepoBo (3842)65-04-62 HosGpbck (3496)41-32-12 CapaHck (8342)22-96-24 Ydpa (347)229-48-12
BpsiHck (4832)59-03-52 Kupog (8332)68-02-04 HoBocubupck (383)227-86-73 Cumdbeponons (3652)67-13-56 XabapoBck (4212)92-98-04
BnagueocTok (423)249-28-31 KonomHa (4966)23-41-49 Owmck (3812)21-46-40 CmoneHck (4812)29-41-54 Yeb6okcapbl (8352)28-53-07
Bnapnukaekas (8672)28-90-48 Koctpoma (4942)77-07-48 Open (4862)44-53-42 Coum (862)225-72-31 YennbuHck (351)202-03-61
Bnagumup (4922)49-43-18 KpacHogap (861)203-40-90 OpeH6ypr (3532)37-68-04 Craspononk (8652)20-65-13 Yepenosey (8202)49-02-64
Bonrorpap (844)278-03-48 KpacHospck (391)204-63-61 MeH3a (8412)22-31-16 CypryT (3462)77-98-35 Yura (3022)38-34-83
Bonorpa (8172)26-41-59 Kypck (4712)77-13-04 MeTtposasopck (8142)55-98-37 CoixkTbiBKap (8212)25-95-17 SkyTek (4112)23-90-97
BopoHex (473)204-51-73 KypraH (3522)50-90-47 Mckos (8112)59-10-37 Tam6oB (4752)50-40-97 Apocnaenb (4852)69-52-93
EkaTepnH6ypr (343)384-55-89 Tuneuk (4742)52-20-81 Mepmb (342)205-81-47 Teepb (4822)63-31-35

Poccus +7(495)268-04-70 KasaxcraH +7(7172)727-132 Kuprusus +996(312)96-26-47

https://lelcometer.nt-rt.ru/ || erj@nt-rt.ru


https://elcometer.nt-rt.ru/
mailto:erj@nt-rt.ru

blasting equipment

Flat Valve Pot Connection

(1 The Flat Valve Pot Connection is suitable for all Elcometer blast machines
except the Elcometer 1020.
Part Numbers
Part Number  Description

14" (32mm) Male/Female Equal Union Taper Seat
for use with Elcometer FV

MT30012 174" (32mm) BSP Hex Nipple for use with Elcometer FV

MT30013

Mini Flat Valve Pot Connection

( N The Mini Flat Valve Pot Connection is suitable for the Elcometer 1020
abrasive blast machines.

; Part Numbers

Part Number Description

17" x V2" (32mm x 13mm) Reducing Hex Nipple for use with

Virsnozt Elcometer MFV
2" (13mm) Female/Female Union Taper Seat
VITE0020 for use with Elcometer MFV
& J \I\/IT28567 72" (13mm) Nipple 60mm Long for use with Elcometer MFV y
Flat Valve 45° Mixer
( "\ The Flat Valve 45° Mixer is rubber lined for extra wear protection. The mixer

directs the media into the flow of air effectively. Suitable for all Elcometer
blast machines except the Elcometer 1020.

Part Numbers

Part Number Description
MT28562 14" (32mm) 45° Y - Rubber Lined for use with Elcometer FV

172" (38mm) Male, 60° Cone x 1%" Male Adaptor
for use with Elcometer FV

< < | MT30009 14" (32mm) Forged Nipple 3000Ib for use with Elcometer FV

MT30019

Mini Flat Valve Equal T

( 7 The Mini Flat Valve Equal T connects to the base of the Elcometer Mini
Flat Valve, allowing abrasive media to mix with the air from the pusher line.
Suitable for Elcometer 1020 abrasive blast machines.

. Part Numbers
& J

Part Number  Description
MT28563 2" (13mm) Flanged Equal T for use with Elcometer MFV

2" (13mm) Forged Nipple 3000Ib (x2) for use with
Elcometer MFV
%" (19mm) 60° Cone x %2" (13mm) Adaptor for use with

\MT2854O Elcometer MFV )

MT29224

e



blasting equipment

Part Numbers

Elcometer Flat Valve

Part Number  Description
Elcometer Flat Valve - BSP Thread

Spare Parts

Iltem Part Number  Description

1 - -
1 Wing Nut M6 =
2 Spacer M6 x 11 2 = = 13
3 Washer M6 (x2) 3 -1
4 Bolt M6 x 30 4 A /" 2
5 Air Hose, Steel Standard Safety Clip 5 R 15
6 Long Bolt (M12) (x2) 8-~ 16
7 Flat Valve Top Plate
8 Flat Valve Top Plate Gasket B - l T i L
g Flat Valve Middle Plate I ! '
10 Bottom Cover Gasket o ? o= 18
1 Flat Valve Bottom Cover e o 19
12 Wing Nut M8 (x2)
13 FV Level Handle Guide 7
14 Flat Valve Handle
15 Handle Pin
16 Spring 8
17 Bolt M12 x 50 (x4) 20
18 Washer (x12)
19 Nut M12 (x8) 9
20 Gasket (x2)
21 Flat Valve Shut Plate + Shaft
22 Flat Valve Bottom Plate 21}
23 Bolt M8 x 35 (x2)
24 Washer M8 (x4)
_ =
Part Number Description 23
FV Service Kit 1
(contains items 5, 8, 10, 15, 16, 20, & 21) 10 24

FV Service Kit 2 11
(contains items 1, 2, 3, 4,7, 13, 18, 19, 20, 23 & 24)




blasting equipment

Technical Specification

Operating Temperature 0° to 60°C
Max Working Pressure (WP) 15bar (217psi)

Part Numbers

Part Number Description

Elcometer 1440 Full FV Assembly complete with Pusher Line, 45° Mixer, FV Flat Valve, Pot Union,
MT30068-1 . -

Pot Coupling & Airline Assembly

Elcometer 1460 Full FV Assembly complete with Pusher Line, 45° Mixer T, FV Flat Valve, Pot Union,
MT30068-2 . -

Pot Coupling & Airline Assembly

Elcometer 20100 Full FV Assembly complete with Pusher Line, 45° Mixer T, FV Flat Valve, Pot Union,
MT30068-3 . s

Pot Coupling & Airline Assembly

Elcometer 24200 Full FV Assembly complete with Pusher Line, 45° Mixer T, FV Flat Valve, Pot Union,
MT30068-4 . -

Pot Coupling & Airline Assembly

Elcometer 24285 Full FV Assembly complete with Pusher Line, 45° Mixer T, FV Flat Valve, Pot Union,
MT30068-5 . .

Pot Coupling & Airline Assembly J

Spare Parts

Item Description Part Number

Model Model Model Model Model
1440 1460 20100 24200 24285

1 ;ﬁ;;:{ﬁ;fher Line Assembly complete with 7286002 MT28609-4 MT28609-6 MT28609-7 MT28609-7

2 1%"BSP Male, 60° Cone / 1 /4" Male Red MT30019

3  1%"BSP 45° T - Rubber Lined MT28562

4 1%" BSP Forged Nipple, 3000Ibs MT30009

5 1%" BSP Claw Coupling MT30010

6 1" BSP Nipple Medium EN 10255 MT30011

7  FV Main Assembly FV-B

8 1" BSP Hex Nipple MT30012

9 1%" BSP Male/Female Equal Union Taper Seat MT30013

-
\.




blasting equipment

Elcometer Mini Flat Valve Elcometer MFV

Part Numbers

Part Number  Description

Elcometer Mini Flat Valve for use with Elcometer 1020 Blast
Machine - BSP Thread

Iltem Part Number Description

Nut M8 (x4)

Spring Washer M8 (x4)
Washer M8 (x8)

Shut Off Valve Assembly
Gasket

Bottom Plate

Bolt M8 x 50 (x4)

i
=

N o ol 0N

Part Number Description

MFV Service Kit 1
(contains items 1,2, 3 & 7)




blasting equipment

Technical Specification

Operating Temperature 0 to 60°C
Max Working Pressure (WP) 15bar (217psi)

Part Numbers

Part Number  Description

Elcometer 1020 Full MFV Assembly complete with Pusher Line, 45° Mixer T, MFV Mini Flat Valve, Pot Flange,
Pot Coupling & Airline Assembly

Spare Parts

MT30069

Item Part Number  Description

1 MT28608-1 %" 15bar Pusher Line Assembly complete with Swaged Hose
2 MT28540 %" BSP 60° Cone x ¥2" Adaptor
3 MT28563 2" Flanged Equal T
4 MT29224 15" BSP Forged Nipple 3000Ib
5 MT30090 2" BSP Claw Coupling
6 MFV-B Mini Flat Valve Main Assembly
7 MT28567 2" Nipple 60mm
8 MT30020 2" Female/Female Union Taper Seat

L 9 MT30021 174" x'2" Reducing Hex Nipple

g

Anmartbl (7273)495-231
Anrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BnaroBelleHck (4162)22-76-07
BpsiHck (4832)59-03-52
BnapusocTok (423)249-28-31
BnapaukaBka3s (8672)28-90-48
Bnaaumup (4922)49-43-18
Bonrorpagp (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89

WBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanunuurpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupos (8332)68-02-04
KonomHa (4966)23-41-49
KocTpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Juneuk (4742)52-20-81

Poccus +7(495)268-04-70

MarnuToropck (3519)55-03-13
Mocksa (495)268-04-70

MypmaHnck (8152)59-64-93
Ha6epexHble YenHel (8552)20-53-41
HwxHuit HoBropop (831)429-08-12
HoBoky3Heuk (3843)20-46-81
Hos6pbeck (3496)41-32-12
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeH3a (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
Mckos (8112)59-10-37

Mepmb (342)205-81-47

Kasaxcran +7(7172)727-132

PocToB-Ha-[loHy (863)308-18-15
PsizaHb (4912)46-61-64

Camapa (846)206-03-16
Cankr-lMeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBacTononsb (8692)22-31-93
CapaHck (8342)22-96-24
Cumdbeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Coum (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35
CbIKTbIBKap (8212)25-95-17
Tam60B (4752)50-40-97

Teepb (4822)63-31-35

Kuprusus +996(312)96-26-47

https://lelcometer.nt-rt.ru/ || erj@nt-rt.ru

TonbaTTh (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TiomeHb (3452)66-21-18
YnbsaHoBck (8422)24-23-59
Ynaun-Yns (3012)59-97-51
Ydba (347)229-48-12
XabapoBck (4212)92-98-04
Yebokcapsbl (8352)28-53-07
YensnbuHck (351)202-03-61
Yepenosel (8202)49-02-64
Yura (3022)38-34-83
SKyTck (4112)23-90-97
Apocnaenb (4852)69-52-93



https://elcometer.nt-rt.ru/
mailto:erj@nt-rt.ru



